CEA=L A= FRE H@HEGEPD|AEREP)| ST VRBEAEREGE) [ ST IV EAHEREGE)
2016/11/7 | FRAB(FK- iz > F)LR) | 1010RILEAR 1 1 10 4
2016/10/27 | $T ABR(HA-ERS P ILR) | 10206 L L 1 1 16 13
2016/11/8 | FTAEL SERYUTILA) | 1030R L KR EF 1 0 11 1
2016/11/4 | 1 NB§ FEHRUTILA) | 1060 ILIEEE 1 1 9 7
2016/10/25 | #FrAEL SERIUTILR) 1070 LI 1 1 9 15
2016/11/8 | T ABR(HA-EIRI VI ILR) | 1080 LT 2 1 0 11 0
2016/11/8 | FFAB(HR-2EIRS T ILR) | 10905k LU T ¥ 1 0 12 0
2016/11/1 | T AB(BAEHRS VP ILR) | 11006 LR 1 0 0 0
2016/11/8 | #r NBR(FHR-EIRS 2T ILR) 1110EH78 1 0 0 0
2016/11/8 | T AB(HIAR-BIZRS VT IILR) [ 1120lUERF 0 1 0 0
2016/11/2 | FFABR(FA-FEIRS 2 HILR) 11308hE 0 1 0 0
2016/11/8 | T ABR(HAEIHR VT ILR) | 1140BHFHF e 1 0 5 1
2016/11/8 | SR AB(HIR-EIRS VT ILR) [ 1160k LLHKE 1 1 6 7
2016/11/8 | T AB(HA-EIRS VY IILR) | 1170 EKHE 1 1 5 2
2016/11/8 | i AB& SEIRVU IR 11805 RS R 0 0 4 0
2016/10/25 | FTAEL SERUTIILR) | 122081 FFE 0 0 0 0
2016/10/24 | T AER BRI ILR) 123072 ZER 1 1 9 3
2016/11/7 | T A8 SEIRUTIILAR) | 2020 EER R 1 0 12 0
2016/11/4 | i NB& BRI ILRA) 2030 %5 1 1 8 5
2016/11/7 | T AB(HAERS VY ILR) | 20502 B2 F 1 0 0 0
2016/11/8 | SR ABR(FIIA-FEIRS VI ILR) 30108 K% 1 1 4 7
2016/10/18 | F ABR(HA-EIRS VT ILR) 30203 F 1 0 8 8
2016/11/9 | FRABR(HIA-FIWS Y ILR) | 3030#F F 1 0 6 0
2016/11/1 | T AB(HAREIR VT ILR) | 3060fE R #k 5 0 0 9 2
2016/11/1 | SR AB(HR-EIRS T ILR) [ 3080 LI H & 1 1 9 5
2016/11/9 | T AB(HIAREIHRS VT IR | 40108 FE 1 1 18 6
2016/11/4 | r NBR(HA TR VU LR | 40208 BRIk 1 1 7 6
2016/11/8 | 1 ABR SRRV ILR) | 40408 BT it 1 1 8 7
2016/11/9 | T A& BRSOV IA) | 40508 BEE 1 1 0 0
2016/11/8 | 1 ABR RV INR) | 4070KETE 1 0 30 0
2016/11/9 | T A& SRRV IR 4080 R 0 1 0 9
2016/11/9 | FTAEL SEHROUTILA) | 40902 EE 1 0 7 3
2016/11/4 | 1 ABR BRI ILRA) 41002 %% 1 0 10 2
2016/11/9 | 3 AB(HA-EIRS VT ILR) 5010#8%t 1 1 9 4
2016/11/7 | FFABR(FIA-F#IRS VY ILR) 5020#8%1 ’g 1 1 8 4
2016/11/8 | 3T ABR(H{R-EIRI VT ILR) 504052 1 0 9 0
2016/10/27 | 3T ABR(HIAEIRS 2V ILR) | 6020 E S 0 1 3 12
2016/11/9 | 3 ABR(HR-EIRS VT ILR) 603055 [iF] 1 1 11 6
2016/11/7 | FHr ABR(HIAR-EIRS VU ILR) | 6040% [l pa 5 1 1 8 )
2016/10/24 | FT ABR(HA-EIRS 2 JILR) | 60505 T 3 1 0 10 0
2016/10/26 | BT AB(F{AR-ERS 2T ILR) 6060F /R 1 0 8 2
2016/11/2 | 1 AB& GEIRLUTILR) 6070% # 1 0 11 3
2016/11/9 | 1 ANE& SEIRIUVIIVA) | 6090 S E 1 1 6 )
2016/11/8 | #1 AB& GEIRLUTILR) 61108 4R 1 0 3 0
2016/11/9 | 1 ANE& BRSO UTIILRA) 612080 PEILE 1 0 8 3
2016/8/1 | #T AB SRRV IIVRA) | 7020 LR E 0 0 0 0
2016/11/4 | I AR SEIRIUVIILA) | 7030EILTE 1 0 10 2
2016/11/7 | #HE ABR(HR-EIRS VT ILR) 704085 1L 1 1 9 3
2016/11/8 | B AB(HIR-EIRS 2T ILR) 7050 E £ 1 1 7 7
2016/11/9 | #F ABR(H{R-EIRS VT ILR) 71002 LK 1 0 4 0
2016/11/9 | FHABHIAERI VLR | 7130ZILUSE 1 1 11 5




